Honda

E 3831-0520



E 3831-0520

oten |yt | ot | oo | e
e | Quntie | Retere pdeters e | Qunti | 1 Retrene pacters
Posicion Cantidad No. Referenzia Indicaciones Posicion Cantidad No. Referenzia Indicaciones
1 20001119
2 10016212
3 25040013 | DIN931-M10x60
4 20025287 | S 10
5 25049020 |DIN7349-10,5
6 20022003 | Tensilock M10
7 20007004
8 25044005 | DIN912-M8x20
9 25048002 |DIN125-A8,4
10 20008031
11 20026383
12 11002354
13 25038073 | DIN933-M8x12
14 20029031 | SKM 8
15 21001324
16 25044003 | DIN912-M6x20
17 25031012 | DIN985-M6
18 20007007
19 25044002 | DIN912-M6x16
20 25048001 |DIN125-A6,4
21 20022001 | Tensilock M6

05.20




